(0 @) (rad)

1

SICEWATL

o p/p.)

=
<

—~
T M =

: : 2

EEPPRRS IR EEET R R AR T T R =
H N o

o

Lot L e T e
N —

& S}

0—2

10721

...................................

0% N

oo

107 1

0.95 :
107 1

2 3
TPlpoT (PCA t%obeamlinélf)

—s=— DQM_V0001_R000000001__Global__mkFit100Timeo_ RECO
—— DQM_V0001_R000000001__Global__mkFit100Time__RECO

z

oo a,) (cm)

oo s
10 t102 - 10°
TPp, (PCA fo'beamlinég

1 1071 1

1074

...............................

; I : 2 3
1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


